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/ Dig Presentation

S system on an excavator you may dig down to the desired depth with o
hout the need of leaving the cab to control or a grade checker.

this system, capable to measure in three dimensions, you may measure the dista

een two points located anywhere, such as the dimension of a trench, and the inclinatio
ting slopes. All measurements are taken from the two ends left, right and centre of t
ket blade (or teeth tip) until a point of reference.

sors measure the angles of all moving parts (Chassis, booms, bucket) and the informatic
ransmitted to the display in the cab. A step-stair LED display provides accordir
mations.

anted system enables to install and calibrate the system in less than an hour wit
required know-how of machine control. Wireless technology makes it portable on
in your fleet.
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DIGGING A MANHOLE

Method 1: Using the bottom of the manhole as the reference




DIGGING A MANHOLE

Method 1: Using the bottom of the manhole as the reference
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Place the tip of the 2. Enter '0" as the height - The screen and the
bucket at the bottom (you are at the bottom LED Display are now
of the trench and then of the manhole) then giving you real-time
press the  symbol validate. elevation informations.

levation"

er the first setting of elevation, a second button appears on the ==
and side: by clicking on it, you'll set the last dialed
one single click; here: 0,00m.




DIGGING A MANHOLE

Method 2: Using (e.g.) a surveyor’s stake as the reference
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Place the tip of the

bucket on the

surveyor’'s stake and
hen press the symbol
levation”

DIGGING A MANHOLE

Method 2: Using (e.g.) a surveyor’s stake as the reference

Actual: ?:?

New: l@'u
819|€C
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2. Enter « 2,50m » as
your actual elevation
and validate.

- The screen and the
LED Display are no
giving you real-time
elevation informations.

er the first setting of elevation, a second button appears on the
and side: by clicking on it, you'll set the last dialed
one single click; here: 2,50m.




DIGGING A 5M WIDE MANHOLE




/ Dig DIGGING A 5M WIDE MANHOLE

5 occure in addition to the examples described previously.
> button “Enable/Disable Reach" on the left hand of the screen:

2nsor is available, align the cabin along the manhole, and then click the alignment

he tip of the bucket on the point of reference.

on the “Reach Setting“ button:
ding on the working conditions, there are now two possibilities:

y 1: Possibility 2:

- Dial-in bm




Di DIGGING A MANHOLE using a rotating laser
[ g Method 1: Knowing the Laser Height

Laser Receiver
Laser Height
(2,21m + 2,50m)




DIGGING A MANHOLE using a rotating laser
Method 1: Knowing the Laser Height

Actual: ???

New: . 4.71 J¥

&

ate the 1st laser catch Click on « Set Laser Height » Dial-in « 4.71m » and validate

Each time the machine
gets moved, click o
the button below fc
catch the laser bear
again:

ser beam -> The laser height

previously set is shown h 4
(4,71m) and the result of the
calculation after the laser
catch shows in this example

that the bucket tip actually is
4,55m above grade.




DIGGING A MANHOLE using a rotating laser
Method 2: Not knowing the Laser Height

Laser Receiver

Reference
Point

/




b

te the 1st laser catch

DIGGING A MANHOLE using a rotating laser
Method 2: Not knowing the Laser Height

[ |/ :
a b L

- The bucket height s
shown (2,50m) and the result
of the calculation after the
laser catch shows in this
example that the Laser
Height is 2,66m.

Actual: 22?
New: -@n
819 |C

3
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Place the tip of the bucket on
the point of reference and
then enter '2.5m', finally
confirm.

Each time the machine
gets moved, click o
the button below
catch the laser bee
again:




DIGGING A TRENCH with 2% slope
Method 1: Using the bottom of the trench as the reference




lick on « Slope Setting »

Actual: ???

New: -nm
819 |C
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as the height (you
bottom of the
alidate.

DIGGING A TRENCH with 2% slope
Method 1: Using the bottom of the trench as the reference

Length Slope: -‘?’i

&

Choose the direction of the
slope on the bottom left.
Enter 2.00% and validate

Watch the on-screen
instructions to follow the set
slope.
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Note: If you’re using the 2D
sensor, first align the cabin to
the slope.

Place the tip of the bucket at
the bottom of the trench and
then press the symbol
“Elevation”

Note: without 2D
sensor, you have tc
parallel to the axis
the set slope.
Turning the cz
causes an ir

error of




DIGGING A TRENCH with 2% slope

Method 2: Using (e.g.) a surveyor’s stake as the reference
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DIGGING A TRENCH with 2% slope

Method 2: Using (e.g.) a surveyor’s stake as the reference

Length Slope: -‘?’f

&
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L)V b
Choose the direction of the
slope on the bottom left.

Enter 2.00% and validate

Click on « Slope Setting »

Actual: ???

819 |C
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2,50m' as the height Watch the on-screen
,90m higher than instructions to follow the set
of the trench) slope.

<G aand

Note: If you’re using the 2D
sensor, first align the cabin to
the slope.

Place the tip of the bucket on
the reference point and the
press the symbol “Elevation"

Note: without 2D
sensor, you have tc
parallel to the axis
the set slope.
Turning the ce
causes an ir

error of




” Di DIGGING A TRENCH with 2% slope using a rotating laser
[ g Method 1: Knowing the Laser Height

Note:
You must set the same slope in the rotating laser as in Laser Receiver
the iDig system and align it to the same axis.

Laser Height
(2,21m + 2,50m)




DIGGING A TRENCH with 2% slope using a rotating laser
Method 1: Knowing the Laser Height

Length Slope: .-‘ )

&

Sign Conventi

) SR =)
lick on « Slope Setting » Choose the direction of the Note: If you’re using the 2D
slope on the bottom left. sensor, first align the cabin to

Enter 2.00% and validate. the slope.
Activate the 1st laser catch

Actual: ???

New: .1 |

819|C
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Dial-in « 4.71m », validate, > The laser
and catch the laser beam. previously set is

(4,71m) and the re
calculation after
catch shows i
that the bu
4,38m ab

« Set Laser Height »




” Di DIGGING A TRENCH with 2% slope using a rotating laser
{ g Method 2: Not knowing the Laser Height

Laser Receiver

Note:
You must set the same slope in the rotating laser
as in the iDig system and align it to the same axis.




DIGGING A TRENCH with 2% slope using a rotating laser
Method 2: Not knowing the Laser Height

Length Slope: .-U 5

&

Click on « Slope Setting » Choose the direction of the Note: If you’re using the 2D

slope on the bottom left. sensor, first align the cabin to

Enter 2.00% and validate. the slope.
Activate the 15t laser catch

Actual: 2???

New: .11
819 |C
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on « Bucket Height » Place the tip of the bucket on > The bucket heic
the point of reference and shown (2,50m) and th
then enter '2.5m', confirm, of the calculation
and catch the laser beam. laser catch shc
example tha
Height is




CHANGING THE ELEVATION |
Method 1: Working without a rotating laser

Reference
Point

/




CHANGING THE ELEVATION
Method 1: Working without a rotating laser

/ Dig

y 1 : Changing the elevation > by changing directly the digging depth

2.50m % Actual: 2.50m
New: m

L

v 1/ . R 7 [zl

The bucket is still on the original
reference, but the digging depth
has been DECREASED 10cm.

Place the bucket on a known Enter a new height, 10cm
height (here 2,50 m), then click HIGHER than the current height
on “Elevation Setting". (2,50m - 2,40m), then validate.

ssibility 2 : Changing the elevation - by dialing-in an offset

Moving the referenc~

Offset to add: .@ n

7

v

putton 'Move the
hen click the

Dial-in the offset, in this case
0,10m.

The digging depth he
RAISED 10cm.




CHANGING THE ELEVATION |
Method 2: Working with a rotating laser




CHANGING THE ELEVATION
Method 2: Working with a rotating laser

ity 1: Change directly the digging depth

the bucket on a known
(here 2,50 m), then
“Elevation Setting".

Actual: 4.3%...

New:

Enter a new height, 10cm
LOWER than the current
height (4,38m -> 4,28m),
then validate.

o T

The digging depth has bee
RAISED 10cm.




CHANGING THE ELEVATION
Method 2: Working with a rotating laser

ty 2: Change directly the Laser Height

Actual: 4.7 2.
New: 4.61 n

819 |C

3
v

on « Set Laser Height » Enter a new Laser Height, The bucket height / refere
10cm LOWER than the and Laser Height decrea:s

current height (4,71m - 10 cm.
4,61m), then validate.




CHANGING THE ELEVATION
Method 2: Working with a rotating laser

Click on the button 'Move the
Reference'

Moving the reference

Offset to add: .m m

9|C

) - The bucket height / reference and
-in the offset, in this case 0,10m. Laser Height decreased by 10 cm




Moving the machine
Job site view

Job site reference
Existing ground 20m trench to dig point

site, a 20 m long trench, 2 m below the reference point on
5 to be built.




Moving the machine
Set reference

that no slope is set (0%)
e bucket tip on the reference point
the elevation
and validate




Moving the machine
Start digging

digging following the indications of the system.
nachine is not on an even surface, do not move the tracks!




Moving the machine
Re-reference with the bucket tip

ontinue, move the machine forward
ack the bucket tip on the reference point
1e « Quick Elevation » button to re-reference the machine:



Moving the machine
Re-reference with the bucket tip

inue digging, using the entire range of the elements to reduce the
er of moves with the machine.




Moving the machine
Re-reference with the bucket tip

ong as possible, put back the bucket on the reference point after
nachine got moved '
1e « Quick Elevation » button to re-reference the machine:
inue to work




Moving the machine
Reference point out of reach of the bucket tip

ou are too far away from the reference point.
rotating laser, you may re-reference on the ground (on a
gly good elevation), but on long distance inaccuracies
se a rotating laser!!!




Moving the machine
Reference point out of reach of the bucket tip

D the rotating laser.
re the elevation difference between the laser plane and the re

mple, the elevation difference to the reference point is
elevation difference to the ground, makes a to




Moving the machine
Reference point out of reach of the bucket tip

Ifyou know the height difference

? between your rotating laser and your
2 reference, please dial it in.

aser function is available but not
itialized.

k the « 1st Laser Catch » button
Click on “Set Laser Heis

ar button is visible, then the laser receiver needs to be calibra
3ser buttons are visible, then there is an “old” 1%t laser ca
d” catch to initialize a new 15t laser catch:




Moving the machine
Reference point out of reach of the bucket tip

/ Dig

Actual: 7?2
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nter the Laser Height:

,00m » and validate. e Now catch the laser beam ar
click on « Next ».

Note: If the 'AutoCatch’ optic
enabled you do not need
“Next”.




Moving the machine
Reference point out of reach of the bucket tip

/ Dig

e now able to re-reference each machine move by catching agai

ontinue digging.




Moving the machine
Each time you moved the machine...

eed to move again.
aser Height is already set & defined.




Moving the machine
Each time you moved the machine...

the machine got
make another laser * Catch again the laser be
* The machine move go
compensated




(;Dig Notes : 1D mode and 2D mode

In 1D mode, the measures are good for a single cabin position. This mode is suitable for the
realization of single slope trenches. The measures are relevant ONLY in the axis of the
trench. Any rotation of the cabin may cause an error, depending on the inclination of the
excavator.

When level (horizontal) areas are made, the error caused by the rotation of the cabin may be
easily removed by using an additional sensor installed on the chassis.

In 2D mode, a triple sensor measures the complete direction of the cabin, allowing total
freedom of movement of the cabin. In this mode, the system allows to work on areas with
dual slope.

Combined with a tilt bucket sensor, the system helps the user to adopt the ideal angle of the
bucket in relation to the desired slope.

For large areas, each change of location of the machine may be compensated using the
dipper stick sensor: It has a laser receiver inbuilt and after each laser catch the previous

height change of the machine’s body gets compensated.
42



